2

Consider the following statement : There is renewed thrust 0;1 production 0
of the following statement(s) is/arc attributable to Ragl Crop ?

I.  Ragi is rain-fed crop and mostly grows well in black soil. .
Ragi grows well on red, black, sandy, loamy and shallow black so1l.
It is crop of dry regions and rich in iron, calcium and roughage

Karnataka, Tamil Nadu, Jharkhand, Rajasthan and Arunachal Pra

states.

How many of the statements given above are correct?
(A) 1and 3 only (B) 2 and 3 only

(C) 2.3 and 4 only (D) 1,3 and 4 only

(E)  Question not attempted

FrafRas wemt wx R IR : e waw % SaEe T e S R T E
foRes & @ s-a1d wuw T Buw @ gefg 3R 7
T Fut s waw & ofiR e wieh gar § ord & gedl g '

2.
3.
4.

1.
2. < e, e, e, g it e el e F ord @ wod
3. I% g 89 B wud § 3R o, Hivere o v (Te) & Y R B |
4. wiles, AREETE, ARES, TS ST srETE e T SdTed % TgE 1Y ¥
T T SRieT wuei § § Read wum @ ¥ 7
(A) w133 (B) a2 3K 3
(C) ¥aw2.3a4 (D) ¥aw 1,334
(E) srgaia gsd
Match List I with List IT : :

List I List IT
a.  Endangered Species i.  Desert sheep and hornbill
b.  Vulnerable Species ii. ~ Blue Sheep i
c.  Rare Species iii. Lion Tailed Macaque
d.  Extinct Species iv.  Pink headed duck

Choose the correct answer from the options given below:

(A) a-iii, b-i, c-iv, d-ii (B) ' a-iii, b-ii, c-i, d-iv
(C) a-ii, b-1, c-iv, d-iii (D) a-iv, b-iii, c-i, d-ii
(E) Question not attempted .

gt 1 &1 faer gar 11§ Sifag
T I

gl |
a. faqgwawma: genta i e 99 iR s
b.  ergeierd gt i, el S
d g get iv. @ R Al gaw
et fag T feeedt # @ @l O A T i (B, B
coogfys o Alle . Wquse a-111, b-11, €-1, d-
(A) " ajif b, ey & | (D) a-iv, beiii, c-i, d-ii

(C) i, b-1, c-iv, d-iii

(E) ergafa 997
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Match List 1 with List 1] :

List 1 List I1
a. Iron ore Mines i. Balaghat
b.  Copper Mines ii.  Amarkantak Plateau
C. Bauxite Mines iii.  Gua and Noamundi
d.  Mica Mires iv.  Nellore

Choose the corrett answer from the options given below:
(A) a-iii. b-ii, % d-iv (B) a-ii, b-i, c-iii, d-iv
(C) a-iii. b-i, c i, d-iv (D) a-i, b-iii, c-iv, d-ii

(E)  Question i\ot attempted

T L1 fover ot 11 & <R
@ 1 w10

a. Fﬁ%maﬁ@? i. SR
b. RS @H ii. HEe® TR
e W&ﬁ@ﬂ fii. 8 &Y S
d. mﬁ@ﬁ iv. SR
%ﬁﬁmﬁmﬁﬁaﬁmmﬂww

(B) a-ii, b-i, c-iii, d-iv

(A) a-iii, b-u,,g-; d-iv
(D) a-i, b-iii, c-iv, d-ii

(C)  a-iii, b-i, c-ii, d-iv

(E) srgafags

Consider the followmg statements:
1. Copper, Lead, Tin and Bauxite are non-ferrous minerals.

2. Manganese, Iron, Cobalt and Mica are ferrous minerals.

3. Potash, Marble and Granite are non-metallic minerals.

4. Nickel, Cobalt and Platinum are precious metals.

How many of the statements given above are correct?

(A) 1 and 3 only (B) 1and 4 only
(C) 2and3 only (D) 2,3 and 4 only
(E) Question not attempted o N
ferferaa et uz feame Hif:

1. i, g o atware o wher

2. Hrdrs, ey wrawe oft st e @t ¥

3. 4, A 6K e eratfen afre

4. o, BiEme ot wfem aggea umgd ¥

fen 0 TuTied wae A @ Reew puT ad ¥ 7
(A) %aw 1 efy,3 (B) %= 13w 4
w>#ﬂ%m3 (D) %W 2, 3 ofX 4

(E) argaf@ Wﬁ

P -
L,
o

168
(J
)
153
W)
91
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£

RS

VP LET

reisgy
2

f’ﬂ"b
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d

Y
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Consider tlye following Statements :

' ati ort.
I Randla Portalso known as Sardar Patel Port is  tidal p
2 Marmagag Portis for the premier Iron ore export.

3. Chennaj i one of the oldest

artificial ports of the country. t
* Paradwiy, POt specializes in the export of Mica in the country.
How many of the stateme

nts given above are correct?
(B) 2and3 only
(D) 2,3 and 4 only

(A) land3 only
(©) 3andg4 only
(E)  Question not attempted

S T R B

1. aﬁmu\é,wﬁauﬁ%ﬁﬁm&aﬂmw%’,%@wﬁ"“%'

2. Wﬁmwmeﬂmm%%m%l

3. %ﬂ%%ﬁ%wwwﬁam%n

4. WW%&Tﬁw%ﬁah'%mmw%l
ﬁqﬂq@ﬂaﬁmﬁ%%wmw%‘?

(A) Faw 1aix3 (B) e 2 ai7 3

©) *awm3ait4 D) ¥ 2,3 st 4

E) sguia e ‘ !

6 Consider the following statements relating to our Solar System

1. Saptarishj forms part of constellation Big Bear

2. Saptarishi forms part of the constellation Ursg Major,

8, Asteroids Belt lies between orbits of Mars and Earth.

4.  The largest asteroid is Ceres. | .

How many of the Statements given above are correct?

(A) 1and 2 only B) 2and 3 opy, ,
(©) 3 and4 only L ®) 1,2 and 4 gy

(E) Question not attempted .
W@tﬁwéﬁ?ﬂmﬁﬂﬁiﬁﬁiﬁaﬁwﬁﬁnaﬂﬁq ;

L a<wfy R R armves &1 Ry AT )

2. AR TR AT ARToST ot e e & i
3. oE e A o ged oY wamal % mer Rem &
4. @9 =1 gEuE Ry (Cere) ¥ : :
feg g e apert & @ Rt e @@ ¥ 7

(B) % 2 a3
(A) Faw 1 a2 ,
© w34 P T, 244
(B) orgafa 9o
31 ey A ™~ *

P.T.O-



A T Ml AL N

e —— T

Match List I with List 11:

List 1
a. Shipki Lake
b.  Lipu Leke
c. Jelep La
d.  Burzil

(A) a-iii, b-ii, c-iv, d-i

(©) a-iii, b-ii, c-i, d-iv

(E) Question not attempted

T 11 fre gt 11 it
™ 1

a. e shw
b. fwg dw
C. LA 51
d wsfiw

%ﬁqwﬁaﬁq‘rﬁ@mﬁwwwaﬁﬁa |

(A) a-iii, b-ii, c-iv, d-i
(C) a-iii, b-ii, c-1, d-iv

(E) orgaRa usH

Match List I with List I :
ListI List IT
a.  Copper and Nickel i.  South-Africa
b.  Chromite and platinum ' ji. Ontario |
C: Phosphate iii.  Caucasus
d. Limestone iv. . Algeria ;
Choose the correct answer from the options given below : & ;

(A) a-ii, b-i, c-iv, d-iil
(C) a-iii, b-iv, c-ii, d-i
(E) Question not attempted

gt 1 o1 e g 11 & &ty :
T 1

a.  qrer o} freeet

b. wmERE AT W™

c. WIS

d gaueEl

A g q faepedt & § GE IAT BT T DI
(A) a-ii, b-i, c-iv, d-iii
(C) a-iii, b-iv, c-ii, d-i

(E) ergafd ued

31 ey A

List IT ,
i. Kashmir
ii.  Himachal Pradesh
iii.  Uttarakhand
iv.  Sikkim

-Choose the correct answer from the options given below:

(B)  a-ii, b-iii, c-iv, d-i
(D)  a-iii, b-i, c-ii, d-iv

T 11

i.  wyR

ii. e waer
iii. SAEs

iv. faferrw

(B) a-ii, b-iii, c-iv, d-i
(D) a-iii, b-i, c-ii, d-iv

(B)  a-i, b-i, cii, d-iv

(D) adiiibi,c-il,div

T 11

i, giqur—eTmieer
ii. et

i, Brbe

iv.  eresiEn

(B) a-i, b-ii; c-iii, d-iv
(D) a-iii,b-i,c-ii,d-iv

e S st qu

-
e 1

e e e -
o T

- .
=

e -
e

P.T.O.




9 Match List 1 witl List 11 ;

List 1 List IT
a.  Veld ' {,  Brazil
b.  Pampas ii.  South-Affrica

North-America

(- Compos iif,
d.  Prairie th» iv.  South-Amer it
Choose the cortdct answer from the options given below: . W 3
(A)  a-ii, b-i,"olv, d-iii (B) a-iii, b-iv, ¢4, di
(©)  aiv, biifiiti, d-i (D) e, biv, c-i, &
(E)  Questiofiot attempted ‘ N :
T 1 o1 Prerr el 11 & i - | Ui
E'h | '\Ivfl 11
a. i. EINIC]
b Tum  p i, aRrelEE
C.  HEN {,} i, STRIHALD {4)
d W o3 iv. el .
e R 1 faagdl § ¥ 92 oo} @1 99 B 'Y
(A)  a-ii, bifesiv, d-iii (B) a-iii, b-iv, c-ijdyil
(©)  a-iv, bif,eHiii, d-i (D) aii, b-iv, -1, i
(E) orgaia usw ' '

10 Consider the following statements : I
- Statement-I : z:; The Jet Streams are the strong cores of upper—levé%’:hﬁifesterly winds which follow
a meandering path. L
Statement-1I : ~* The term ‘jet stream’ was first applied to high veloé%ty upper—level winds during

£ World War-IL 165
How many of?h% statements given above are correct? AN
(A) Statemehfil and Statement-II both are correct. : in

(B) Statement-I is correct but Statement-II is incorrect.

(C) Statement-I is incorrect but Statement-II is correct.

D) Statem?&t= -1 and Statement-II both are incorrect. B

(E) Questi u# ot attempted L '

foreffiaa el gT foam aifn - g

®g-1: W%MWWW@%WW@%% ﬁﬁﬁﬁﬁmwm%l
Fer-1l S R smaﬁﬁvga—ll%ﬁmméva%wﬁwﬂuq@%mqﬁﬁmmﬁmw

anl g g U
fa o TUEd wael § § b wuT WO E 7
(A) %o 1 &k B 11 Y wel €|
(B) @& [ g€ & wfepd %o 11 Taa & \ %
(C) oo [ e & AT warT 11wt 31 L Y
(D) wuﬂlaﬁ%imﬂlla’lﬁw%l ng
E e
31 cn A Ny 6 Ny P.T.O.
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Match List I with List 11 ;
List 1

Mountain Breeze
Chinook

Simoom

Sirocco

(A) a-iii.b-ii.c-ivd-i

(©) a-iiib-ic-iid-iv

(E) Question not attempted
T 1 &1 frerms @t 11§ iy
L |

Jad §HIK

a.

b. &= (TE9)
c. Tm

d R

ﬁ%mmﬁmﬁﬁaﬁwmwaﬁﬁqz

(A) a-iii.b-ii,c-iv,d-i
(C) a-iii.b-i,c-ii,d-1v

(E) orgaia ued
12  Match List I with List II
List I
a. Angel Falls
b. Yosemite Falls
c. Niagra Falls
d. Victoria Falls

i
ii.
iii.
iv.

(B)

List II

Sahara Desert

Katabatic

Snow [ater

Asiatic and African Desert

Choose the correct answer from the options given below :

a-ii,b-iii,c-iv,d-i

(D) a-iv,b-i,c-iii,d-ii

ii.
iii.
iv.

B)-

D)

i.
ii.
iii.
iv.

T 11

BT HEw

FHafes

(18-
s efi arfhenr Foede

a-ii,b-iii,c-1v,d-1
a-iv,b-i,c-iii,d-ii

ListII
Venezuela,
California

South Africa
USA and Canada

Choose the correct answer from the options given below:

(A) a-i, b-ii, c-iv, d-iii
(C) a-iii, b-iv, c-ii, d-1
(E) Question not attempted
et 1 o1 e et 11 @ iR
g 1
dord guTd

a.

b.  OrafEe yura
c. framm gyurd
d. Tyt guma

1 frg Tq Rrepedt & & @& S b1 T DI

(A) a-i, b-ii, c-iv, d-iii
(C) a-iii, b-iv, c-ii, d-i
(E) ergafa 984

31 ey A

B)
D)

ii.
iii.
iv.

B)
(D)

a-ii, b-i, c-iii, d-iv
a-iv, b-iii, c-1, d-ii

& 11
ERE LSl
Ffamitan

U 37T FHA

a-ii, b-i, c-iii, d-iv
a-iv, b-iii, c-i, d-ii

P.T.O.
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Survey (PLFS) Repoy,
. 1: Labour Force _
13 Consider the f‘tmowing statements regarding Periodic L easured at t tehyalof thre, Mop,

. On[
~ . o as 15 m : 1Q 3 '
Statemen-] Chirbng Weekly Status (CWS) inurban ariF PR) and Unemployment rate is i declim
Statcmcm-ll Ph\lcnl Labour Force participation ate (

trend whep co\%}wamd with its base year 2017-18.

Which of the Statements given above is/are correct? Statement II is correct only
(A) Statemch{} 1S correct only (B) ’

, . enttinor II is correct
(©)  Both Statement Land 11 are correct (D) Neither Statem W
(E) " Question not attempted ‘ A
WS et B 3 (PLFS)ﬁchéawﬁﬁﬁwfwgaww‘? ferame M
Tl el ¥ ot R g (CWS) R % ol T e o 2017.154
Tl e e iR e (LEPR) s el 7€ o 3 i
Frndh 2, T 5 firrare @ v Ry

R T st Rkt o 2 e s e 2 7 |
(A) Wmmm&%n (B) aﬁrrrraﬁmna'é’r%
(© =9 I oir 03w & (D) = et %o [ i eFrIIH?r%I
(B) Wﬁagﬁ P

14 Consider the (}ﬁlowing statements regarding recently released ReserVé%}Bank of India regardi;

Treatment of Wilfuy] Defaulters and Large Defaulters Directions, 2023 -, 7
1.  The dir?%nons are applicable to all regulated entities ihcluding N‘&ARD, SIDBI and EXI\

2. A \vilﬁxi‘gefault borrower needs to be reviewed and
being classified as a non-performing asset (NPA).

Lender cannot proceed against guarantor without exhausting the

W)

ilz“e}nedies against princip:

debtor.yfs. e
How many of the statements given above are correct? s
(A) 1only~J (B) land2 only  fg
(C) All1,20and 3 (D) 2and 3 only {n

(E)  Questidninot attempte- .

ﬁaw%m@bﬂram%@mmmmzom%ﬁam%waﬁm%

Frefien & eeiferr Frerfefi averei e feremre aifons :

1. fader @it fafrafire samsal NABARD, SIDBIaﬂngxm,ﬁmwﬁ?f ' S

2, v wnamfaﬁwﬁquaﬁnm@rﬁath by :
m o AR (NPA), %@W@ﬁwﬁmm%mﬁ

3. W@W%ﬁwmwmmﬁmnﬁa%ﬁm Sy B ,

G gfear  qrn

fery a1 S gt % & fopem e w7 ?&ﬁm%..
(A) FEalpy (B)  Faw 1 i 5
(C) @ 1,23 (D) % 2 4 5

(E) orgaRa e

31 c1) A ' p.T.O



15  Consider the following statements regarding the Scheme for Remission of Duties and Taxes on
Exported Products (RoDTEP):
1. It provides a mechanism for exemption of taxes, duties, and levies on exported goods.
2. The scheme is WTO-compatible and is being implemented in an end-tb¥end IT environment.
EI:)W nlmn)lr of the statements given above are correct?
only B B) 2onl '
(C) Both 1 and ib"’ gD% Noney oo
(E)  Question notttempted o
Frafe Sere o3 geep-alit w3 % g o a3 ddy ¥ Rrafila wet TT R i ;
1. 9% Frafa awgl w &3, ot ot ) & we & Mo dasr vam s s O
2. Ot WTO T ¥ ol 3[& @ ofd a® afarst & @ @ T ¥
T g St % [T & Rea o wd ¥ 7
(A) ¥aw 1 | (B) et 2 LN
(©) 1323 (D) T | &g TE W
(E) ogaia we - -]
16 Consider the following statements regarding Prompt Corrective Action (PC%}) Framework:
1. Currently P K supervisory norms are applicable to both Government, and non-Government
NBFC’s. I » 1
2 Discretionargzactions under PCA include Restriction on Branch ExpdhSion
How many of the Statements given above are correct? N
(A) 1 only o (B) 2only
(C©) Both1 and of (D) None
(E) Question not attempted phon
T2 wieed TR (PCA) baad § dsfia frfilad weml o far St {1
1. & d PCA-SHE) 7re @i o d—axaitt NBFC @i ¢ @1 8
2 PCA® oy Pl | A9 & fre wT aiwy WA E
T TSI BT H A [ha wuw 981 & ? E\D
(A) Hawl = - (B) %aw 2 ¢
(C) 13K 2 i sk - D) THIHEE - LA
E) STFaRd Ui ‘
17 Consider the following statements regarding the Fugitive Economic Offenders Act:
A. A Fugitive Economic Offender (FEO) is a person who has fled the country and against whom
an arrest warrant has been issued for involvement in economic offenses involving at least
Rs. 100 crores. .
2. Under the A%t, authorities are empowered to confiscate assets even wheén no conviction has
been obtained. it
3. Financial Irifé*f ligence Unit is the nodal agency to implement the Actm
How many of the Statements given above are correct?
(A) 1 and 2 only= (B) 2 and 3 only (8]
(C) 1 and 3 onlj (D) Alll,2and3
(E) Question notattempted
qqﬁﬁ%asaﬁa?ﬁma&ﬁﬂﬁ aﬁ:ﬁmﬁﬁ?&aﬁwﬁfﬁgﬁmaﬁwﬁwﬁq:‘m
1. WWMW(FEO)W@%@W%&&W@W&loom%iw&&samaﬁsnﬁm
BIAT &, <91 BIgHT A1 9aT & o e faams onte ane sl s &1 WA
2. wifufram & dea, wieidr B efiRe w6 B aT W daiT st s i B
3. wEAtad $2RIeE gite efufram @ @] e ¥ Hied T ¥ (1N
faq g Sudier wes) § | fpaw wuw @l ¥ 7 (N
(A) e 180T 2., (B) ®%aw 2 &fX 3 U
(C) FHawalsik 3™ (D) 1,2a& 38
(B) orgafea wer
U
31 ey A 9

P.T.O.



ey OF ngital d
al SUI
ging the Glo
18 Consider the following gtatements regarding . e coun! es. .
Il:aCilltlztm\(f)zlll‘: released by the world Tra . ’amsal“c;1 many de:;fezgures taker i el t
2: Th‘c Obvcrz’;llhscorcy of India has been g:]fattea e f cilitatlo
3. Itisa bi-annual survey that dea wi
WTO member countrics. 11 COIT
How many of the statement given above (B) 2 only
A 1 only D Non¢€
© All'1.2and 3 @) zﬁuﬁﬂwm
(E) Question not gggtmptcdsﬁ q‘( o a P ﬁﬂ-ﬁqﬁgﬁ
1 ﬁﬁsamqmmmﬁmwm' -y
5. oRa & E %sﬁ'@faqﬁﬂ?%l mﬁmmm@mmiﬁm%,
3 & R &< E ST WTO%F“{;%{?I;{Qﬁ g arfe®
R T ST B F g fipas HUT .
(A) e | 83; ?;’a A (E) ST U9
S5 .1' BT a ) . Co orat Debt Market Development Fund
19 Consider the following statements regarding the CorpP
(oM Investment Fund
1. Itwillbe established as an Alternative Inves me . )
he fund shall be mandatory for speciﬁed debt-onented Mutual Fund Schemes
ed as per SEBI’s mandate.

ent Companies.
rs and can be extend

2. Contributiontot
tablished for 5 yea

and Asset Managem

5. Initially, it will be es

How many of the statements given above are correct

(A) 1only (B) 2only

(C) Alll.2 and 3 (D) None

®) Question not attempted ‘

i = ATHE STAHE WS (CDMDF)ﬁaaﬁaﬁwﬁTﬁaﬂwﬁwﬁaﬂW :

1. gaﬁwwaﬁmﬁ%mﬁr&r%miﬁaiﬁm

2. s rre =g hS T i e 3 fg 3@ e H ATET ayferamd &l

3. mﬁ,wﬁWSﬁ%mﬁm@aﬂT@Eﬁ(SEBla&aﬁwqr ol

mmmaﬁﬁﬁﬁaﬁwmaﬁ%? : ot g o A 8|

(A) ®aal (B) e 2

(C) 1,28 3T D) T8 § BIg el (E) -
arding the Foreign Portfolio Investment (FI;I) in India:

ing statements rcg
n the past decade.

20, Consider the follow.

/ 1. It has fluctuated drastically i .

In 2022-23, the net FPI in India was less than 1% of the G
DP.

M ' - !

anagement Act, 199915 the primary legislation governing FPI in India.

2.
3. Foreign Exchange
ents given above are correct?

How many of the statem

(A) Onlyl (B) Onl

(C) All Three D) iy 2

(E) Questiqn not attempted
qé@ﬁﬁgéeﬁ?(FPl)éWﬁwﬁ%ﬁgﬁmwwﬁanaﬁﬁm

qrd § BT
1. wﬁﬁ&ﬁa&mﬁmwﬁm—W§W|
2022-23ﬁ,wﬁgaqwﬁaﬁ,vﬂ€r?$ﬁamm.
R ' 999 9red H oTTE B P By
RIS
It e ¥

2.
Bl P TR feie I, |
%quqwﬂwmﬁﬁ@%%aswaﬁ%?
(A) ®94 1 (B) e 2 .
(©) a4y af (D) 79 9§ BIS ey
10 ) 5 et 957
p.T.O-
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21 Consider the iollowm;?,btulunenls in reference to the femllzers sector in Indla
1. Sulphur-coated rea, also commonly called Neam-coated Urea w1llihelp in addressing the
sulphur dehclency of the soil,
2. Fertilizer Flying Sé[uads (FFS) was constituted to provide crop-wéé]’ iecommendatlons of
fertilizers for individual farms.
How many of the statelpcnts given above are correct? o5,
(A) 1only () (B) 2only "
(C) Both1land?2 only 3 (D) None aj
(E) Question not attempted tmz
Wﬁa‘éﬁs%ﬁ%ﬁaﬁ\ﬁﬁwﬁﬁamﬁwﬁmﬁm S
1. W;ﬁ%@?{&mﬁw = B giar W wer s g, vﬁwﬁwﬁwﬁraﬁfmwﬁm
EaGIEY
2. HIEWTESR wET @ (FFS) &7 7o ST Tl &b T HEa Teen 7 RIwHIeT B & Rig
e T am B A
mmmmwmﬁmmw%? "
(A) ¥l - (B) ¥aw2 A
(©) 132 3=y D) T | B 7 Y -
(E) smmiaws G NI
Li
22 Consider the following statements :
1.  International Financial Corporation is an organ of World Bank to finance private sector in
developing countries. &
2.  ICIMOD - Intematlonal Centre for Integrated Mountain Development is an inter-government
knowledge and learnmg centre situated in Switzerland.
3. All India Rural F,man(:lal Inclusion Survey is conducted by ReservejjBank of India (RBI).
every five years.. Y é‘\ 3 '
Which of the above statement(s) is/are correct? ‘ "
(A) land2only “° (B) 2and3 only L
(C) 1 only ' (D) All of the above
(E) Question not attempted
ﬁwﬁﬁgawnwﬁaﬁ%m >
1 m@weﬁuﬁqmaﬁm@m%sﬁemwasﬁﬁwaa%i%mmma;m%l
2. ﬂTiFﬁﬁﬂé@e-ﬁé’g, §TTAIA 2T G 30T AT qaume Jorsdts ¥ o ww
ST ST Rﬂ} freror = ¥ §
3. gﬂgawmqum&%ﬁawﬁaﬁaﬁwawwﬁﬁaé% wg%m;(am—sﬁaﬂé) ERWCRI IS
|
BUe Tt § § B w7
(A) %am 1 et 2 (B) e 2 &R 3
© a1 (D) ST T
B) srgata ue '
3Tcn A 11

P.T.O.



2 N .
3 Match the 1ollowmg List-1 with List-II : I
LlS']‘-l LIST-

L. Absolute Advantage a. Paul RoseflStem e
2. Theory of Big Push b, Adam Smith e
3. Theory of low level Equilibrium trap €. Richard R. Ne's
4. Balanced Growth Theory d.  Ragner Nurkse
Choose the correct option :
(A) 1-a,2-b, 3¢, 4-d (B) 1-b,2-a,3-d,4-C
(©)  1-b, 2-a, 3-c. 4-d (D) 1-d,2:a, 3-c, 4-b
(E)  Question not attempted
W@-Im@—ll%ﬁmaﬁ%w: ,

-1 ga-11
1 ot wH a, i TR TS
2. fu g o R b. ueHRAY
3. T W ¥ Sgee W @ Reig c. R am. e
4. Sgiee frew Rrai d TR
el feew &t g -
(A) 1-a 2-b, 3-c, 4-d (B) 1-b, 2-a, 3-d, 4-c
(C) 1-b,2-a, 3-c, 4-d (D) 1-d,2-a,3-c,4-b
(E) ogafaus

24  Consider the following statements :
1. Gini Index is a graphical representation of the distribution of income
2. Higher the Gini Index, the greater the degree of income equality.

3. The value of Gini Index has increased amongst re
casual workers in India as per India Wage Report.

Which of the statement(s) given above is/are correct?

(A) land2 (B) 2and3

(C) 3only (D) All1,2and3
(E) Question not attempted

Frtaiaa wal 9T famm i ‘

1. Tl S o a1 99 % f4aor &1 U Uiitheee T ¥

2. i gewi foram et B, o FHI B Rl S & aifes sy

3. gfear 3 fedié & ergare e H Frafi M%%Mﬁwwmw%mmm

6: of wealth,

gular workers while it decreased among

BeaEr s et a7

S e # @ B A ¥
fag ™ zam B) 243
(A) ;,1,3213 (D) 1,233 o
©)
(E) argafea 98T 5

p.T.0
31 cn A



are associated with Regur Soils in India?

25  Which of the following features
igncous rocks as a result of intense leaching.

1. It develops on crystalline
2. Itisrich in Iron, Potash and Phosphoric contents.
3. It is typically found in north-west region of Deccan plateau and made up of lava flows.

4. It is rich in calcium carbonate, magnesium, potash and lime.

How many of the statements given above
(4) 1and2 only
(C) 3 and4only
(E) Question not attempted
ﬁwﬁmﬁéaﬁw—ﬁﬁsﬁmwﬁf%ﬁwﬁﬁﬁ%%?

TE T ST b aRom e et s wEE av Refi g 3

1.
2. TE ST, WIeT SR Biewiies Al & g 2k 31

Bl wwwéwm%w—v@q%ﬁqﬁa@%aﬂru@m%ﬁﬁaﬁ%l
4. %ﬁ%ﬁ@mﬁaﬁawﬁmﬁmaﬁrwwwﬁwm%l

are correct?
(B) 2 and3 only
{p) 1, 2 and 4 only

f%ﬂqvqwﬁaﬁawﬂ“fﬁ@ﬁmﬁmwaﬁ%?
(A) @@ 1 3k 2 (B) ¥aw 2 3K 3
(C) waw3sin4 (D) ®aw 1,2 sk 4

E) sgaiaus

26 Which of the following characteristics is associated with red and yellow soils in India?
7 1. I develops on crystalline igneous rocks in area of heavy rainfall.

2. Itdevelops a reddish colour due to diﬁusjbh of iron in crystalline and metamorphic rocks.
3. Itdevelops yellow colour in hydrated forms. |
4. It develops red and yellow colour due to iron and Sulphur in dry conditions,

How many of the statements given above are correct:
(A) 1 and2only ' ‘ (B) 2and3 only

AC) 3 and 4 only (D) 1,?: and 4 only

(E) Question not attempted
ﬁwﬁr@aﬁaaﬁm—aﬁﬁs}w@mﬁmmtﬁaﬁwaw&a%?

1. w%ﬂaﬁéﬁﬁmmﬂw“ﬁw%@?ﬁ%l-

2. wﬁreﬁaaﬁrmmﬁaamﬁam%%w%wwaWaﬁﬁW%l
3

TE TR B 4 g 41 o o) & |
4. agwﬁa%ﬁmwaﬁrw%wwmtﬁwivﬁﬁ?ﬁ%l
f%qnqwﬂaaama‘fﬁ@ﬁm%mqw&%’?
(A) @ad ] a2 B) Faw 2 &k 3
(C) %aw 3 it 4 (D) &aw 1,28t 4

(E) orgafia e
G = | PTO.
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16N e

Consider the 1igﬁ;mwing pairs : ;:%%4

I BHARAT Agri Infin Fund z};

2. Longpi potjery: Chhattisgarh ‘

3. Sulur Bampoo Wind Flute: Manipur

How many of the above pairs are correetly matched? ' s
(B) Onlytwo pairs g4

(A)  Only one pair ‘
None of the pairs 1

(©)  All threé'hirs D)
(F)  Questior bt attempted e
Presfirfes e G R T P
1. 'qr(a(m‘{ T) : wh 3% %S 81
2. W yzﬁ} : BAETS
3. ggx 9rd (Bamboo) s wye : ARIYY
TR g ¥ A e g e gafma ¥ 7 e
(A) & TH (B) aw & g i
(€) =it S g (D) sﬁ@rﬁésﬂgmwé’r‘??
(E) orgaia e . e
N R
Consider the écﬁ__fowing statements relating to free coaching scheme under the umbrella scheme
‘SHREYAS': W1
1. It provides coaching of good quality for economically disadvantaged SCs, OBCs and
Minorities. 5=
The ceilitig of total family income under the scheme is Rs 8 Lakhs f)éff‘ annum.
3. The ratibof SC and OBC students is 70: 30 and 30 percent seats aré"‘ifzserved for females in
each categpry. E
4.  The ratigof SCs, OBCs and minority students have been fixed at 56%;30 : 20.
How many ofithe statements given above are correct? 833
(A) 1,2 and'3 only (B) 1,2 and 4 only
(C) 2and3only (D) 2 and 4 only &

(E) Question not attempted o
-SHREYAS® &4 o 3 cree e AR o 3 e PreRiRae e SR ST
I aearﬁfajfiquéa'ﬁmqa@r,@ﬁﬁﬁm@ﬁaﬁmmﬁgﬁqmma;m%;
2, m%ﬁaﬁaﬂﬁ@maﬂﬁmwmasw% ) !

3. mﬁreﬂ;,,gﬁe?r@ﬁﬁuﬁﬁﬁwaqma7o:3o%aﬁrmwﬁ30%mé§,ﬁ&mgﬁa;mm%|
4. uwad, aﬁﬁﬁrmm@mﬁmﬁiﬁwmw:so:zo%wﬁﬁaﬁam%n

ﬁqnqawﬁiﬁmaﬁﬁﬁﬁmﬁmmaﬁ%’?
(A) W],Zaﬁ'(3 (B) Faa 1,2 X 4
(C) %aw 2 e 3 . (D) e 2 ST 4
(E) ergafe 9s ‘
1 PTO.

14
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29  Consider the following Statements relating to Pradhan Mantri Jan Dhan Yojna (PMJDY). It is
intended to -
1. Provide access to financial and social services at an affordable cost.
2. Uscoftechnology to lower cost and wider reach,
3. Opening of basic saving bank deposit account in camp mode with minimum balance of
Rs. 500 and zero charges.
4. Issuance of Indigenous Debit Card.
How many of the statements given above are correct?
(A) 1and 3 only (B) 1 and 4 only
(©) 2and4only (D) 1,2,3and4
(E)  Question not attempted i
FHTTER S 8 @ (PMIDY) § gt RrfiRae st w2 frame R
L o9 Seed T ofi amfves denstt 1 qemiig o0 o wam s
2. T @ B A ol e wge aw s s ‘
3. HU S H < S T 500 R 9 g § SRy w9 3 9 @ @ |
4. el She s Wl e
R g swea wae A @ oo pum w7
(A) FHa@ 18R 3 (B) %aw 134
(C) Haw2siR4 (D) 1,2,3a4
(E) ogaka 9
30 Considered the following statements:
1. Samudra Gupta's 'Vyagrashaili' postures reveal his conquest of the West.
2. The coins of the Ashoka era give us information about his 'governance system'.
3. Onone of the seals of Satavahana King Shatakarni, a picture of a 'ship' is engraved, which is
a symbol of his victory over the sea. ;
4.  Information about Ashvamedha Yagya is found in the coins of Kumargupta's 'Ashvamedha
style'.
How many of the statements given above are correct?
(A) 1and?2only (B) .2 and 3 only
(C) 3and4 only . (D) 1,2and4 only
(E)  Question not attempted
Trfaiad o+ v e BHifvTa:
L. agea 31 emadelr garelt & saw ufyendt fera @1 var goa 1
2. @9 g % fowet @ swe ‘st gy @ e o e B ‘
3. WRErE T R B g g St w e sei 3, o s6 aw e w wdie B
4. AT A ‘Amny delv % Rt @ orvaiy a9 @ gEAT R ¥
feq Tq S wui F F Reay wow @l ¥ 7
(A) waalsit?2 (B) ¥aw2six3
(C) a3 ait4 (D) ¥Ew 1,294
(E) argaf@ us=
31 1y A 15
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Consider the following statements: aisl
A i in Haryan
1. The finest and the best preserved Baoli lllf the third-fourt
2. The coin moulds of the later Youdheyas 0 iscovered from Khok,
IRrge numbers from Rohtak. eacock has been dlsco,\ &kgt‘
3. Bnimageof Kartikeya sitting in lalitasana on ar]; = RN
How mahy of the statements given above is/ are cor statements e correct.

n Meham. . ‘
h centuriesA.D. have beep foupg \

(A)  @aly one statement is correct. (8) Only t:;‘cihe statementslis correct.
(C) AN three satatements are correct. (D) None. NN
E) Question not attempted ' . 8]
HYA X e iR A {5
1. eRemn ¥ el i wwd wehi | i
2. ROl st €. ¥ A 3 e 3 Rt 3 W) ead @ aifes T T ¥
3. &ﬁwmﬁ%wﬁmﬁﬁaﬁwmﬁa&w%u B
R TSR et 3 R o w3 7 W
(A) ¥ 7% Fow B) FmadwETwd ¥l
© N%ﬂﬁwmaﬁ%l ‘ , (D) ﬁé%ﬁiﬁﬂﬁﬂ'@r?ﬁ%@
(E) %ﬁa PEE) N
Consider the following Statements: tn

Arranige the following intangible cultural heritages in order of their

: year of induction into the
UNESQO heritage list (Oldest to Newest):

1. Kalbelia 1

2. Budhist Chanting fa

3. Ramlila el

4 Kumbh Mela o

5 Nowrouz M
Choose the correct option from the following: m

(A) 3.1,2,5,4 B) 1,3,2,5 4 < §

(C) 5.4.5,2,1 D) 2,1, 3,4,5

(E) estion not attempted '

ﬁ#iﬁﬂfgg%r ®EA 9T feramt @i 1N
Frafefga smidt ategpfe aded =1 g (UNESCO) eriver gy R
Ry \r;crﬁ&q: T H ey ® 94 % B H (R
1 Tererferar 1N

2. i Hsiremo N

3. e tn
4.  HY A 0y

5 7 B
Preferfigr & wdl fraew 2 g e T
(A) 1,2,5,4 B) 1,3,2,5.4 )
©) 4,5,2,1 M) 2,1,3,4 5 ::.:

(6]
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IZaYTS

Consider the tollowing statements:

Statement 1 : A raga is associated with a specific mood, time of the day and season. For every
raga there are six female consorts called raginis.
Statement 11 : Ragamala paintings are pictorial interpretations of ragas and raginis.

How many of the statements given above are correct?
(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.
(E) Question not attempted

Fr=iaies st WX fEr it ..
suml: o iR TeEw, R % g ofk dem @ deiie ¥yl T % R B At e g §
RIAr HET S B

So 1 1 errar 9t ey oiR Wit ot R faor 31
Ru T SuRied B ¥ § fham wum wd ¥ ?

(A) =I9-1 3R HuA-1 A1 /& T

B) Hu=-1 3R FHYA-II A T & |

(C) =u=-19e ¥ e Bu=-11 o 2

D) Hu=-17a § Afeh Hu=-11 T8 ¥

(E) T ued

Consider the following statements:

1.  Aditya-L1, a space observatory with 9 payloads designed to study the Sun.

2. The VELC will take image the Sun’s atmosphere, the Corona at high resolution and time
cadence.

3. Aditya -L1 carries an ultraviolet imager, 3 X-ray spectrometer and four in -situ instruments to
measure plasma parameters.

How many of the statements given above are correct?

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted V ’

FrfaRad wael 9T feram Hifg:

1. 9 Ydired & |y &feed-L1, sfafver st # g &1 oteaqas & & Wy fewgw fean w31
2. VELC gd % 9RHvsd, 3o {0 ol 2150 Shad IX BT @) B &
3. enfed-L1 5 AT SR Y HTIH & 7T T sTegiardieie 33N SQW—%WWWE—W

IUH TN B T8 fepar &
few g Suiea wuHl § § feaw wuw AE1 ¥ ?
(A) ad Th HIT T 7| (B) %o 3 HUF & )
(C) ad Y waw ael ¥ (D) g Y wuw & TE ¥

(E) orafa usd

A 17 ™
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Match List | with List 1I:

List 1 . List I
a.  Abul Hasan al Hujwiri i Munif; Al Akhzah
b.  Kuli Khan ‘ ii, Fawaid AlF u'a
C.  Jahanara i, kashf ul Mahj ub .
d. Amecer Hassan Sijji Dehlavi iv. Murakka—E-Delhf
T 1ot fover et 11 @ s

w1 | 1l
a.  OTYN T o9 Feiferdy i, i o oTETE
b. g Em i, TR o P
ALY i, wyE 59 TGS
d SR T Rioott Agerdh ' iv. W’Q’%‘Gﬂ"‘ﬁ

Choose the correct answer from the options given below:

e R Ty et ¥ ¥ v wow @1 wgw S

(A)  a-ii, b-iii, c-iv, d-i ; (B) a-iv, b-i, c-iii, d-ii
(C) a-ii, b-iii, c-i, d-iv (D)  a-iii, b-iv; ¢4, d-ii
(E) Question not attempted / srgaila ws '

Match List I with List II:
List I | ListIl
a. Dimun i) . i Sindh Area
b. Makan ii. Mesopotamian Port
C. Meluha iii. - Bahrain Island _
d Ur iv.  Makran Coast (Balochistan)
e 1 o1 Ty g 1@ ﬁﬁﬂl ity | ‘
Tl T
a. A : i. Trawy
b. HEd A HE i, AEEE R seee
c. e T ili. 0= dy
d = iv. TR T ()

Choose the correct answer from the options given below:
ﬁ%ﬁqwﬁwﬁfﬁﬁaﬁwwmaﬁﬁq:
(A) a-ii, b-iii, c-iv, d-i

(C) a-ii, b- -iii, c-i, d-1v

(E) Question not attempted / ST T

(B)  a-iv, b-i, c-iii, d-jj
(D) a-iii, b-iv, e, doji . 1



37 Match List 1 with List 11:

List 1 List IT
a.  Nishad i, Karawar
b. Charmakar ii.  Mehtar
C. Mchhuaaro. ' iii. Kaiwart
Pukkus or Paulkus - ' iv.  Aakhetak

%ﬁlmﬁaﬁ@lléﬁﬁqz
™ & I

a. Tur i.  ®uER
b. TR i A
c. Hge iii. %ad
d. U=HE A dagpd iv. oTETH

Choose the correct answer from the options givenvbelowz

=i g T et F § WR ST &1 TAT B .

(A)  a-ii. b-iii, c-iv, d-i B)  a-iv, b-i, c-ii, d-ii
(C) a-ii, b-iii, c-i, d-iv (D)  a-i, b-iv, c-iii, d-ii
(E) Question not attempted / ST T9T % |

38  Maich List I with List II:

ListI List IT .
a. Jogalthambi I Nashik (Maharashtra) Ty /
b.  Devbarnak ii. ~ Bijapur (Karnataka) - /
c.  Devarashtra iii.  Vishakhapattnam (Andhra Pradesh)
d. Pattadakal iv.  Shahabad (Bihar)
T 1 1 e gt 11 & it A [ &9
T 1 | w11 _ b/
a i i iR (ER)
b. IR i, deTgR (@)
c. TaUg iii.  fqemETIEETT (3tier W)
d. uzesmd iv.  qmETETE (fer)

Choose the correct answer from the options given below: T

T R o faeedl F @ @9 ST @1 99 BT

(A) a-ii, b-iii, c-iv, d-i (B) a-iv, b-i, c-iii, d-ii
(C) a-ii, b-iii, c-i, d-iv (D) a-i, b-iv, c-iii, d-ii
(E) Question not attempted / sT9aRd wsA

Sl 19 PT.O!
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. he sixteentD C;I;stuzlilt during iy,
statements: puilt 11 temple ‘
Given below arc two staten temple was o= upaksha
Statement1 : The ViruP"kSlTu front of the vir
Statement 11 :  The pavilion 5 l t an
Krishnadev Rai. hoose the corree .
In the light of the above $tatements, Cv 11(13 .
(A)  Both Statement I and Statemcm 11 are false.
(B) Both Statement I and Statement t 11 is false.
(C) Statement 1 s correct but Statel_ﬂen nt II is true.
(D)  Statement 1 is incorrect but Stateme
(E)  Question not attempted
T R Fu g g & .
ERCD B ﬁwaﬁﬁrmﬁwhwswﬁﬁrwwm%wf@aﬂ ol
FRI : ﬁww%%wwmmwwﬂwmwaﬁm=
ST e A e A T g, A g g et & @
(A) Fo I 8iR w11 3 v &
(B) % 1 8 der 11 9 wreqy &
©) =9 198 ¥ e me I et %)
D) T LTI & AT o Ty &)
(E)  orgafa we

m the optiOnS given bel()\\";
(0)
swer T ;

Given below are two statements:

Statement | . Bhakti sajnt Shankard 3 ‘Bhagwati Dharma
Statement | | Shankardev's main co ition i .

(B) Both Statement |
(©) Statement | ig co
D) Statement | jg incorre

RALE SEIFIE T NRASER I L S

B) av‘ﬂﬂaﬁt?suanaa‘fma%.
©) wutlghe
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41 Consider the following Statements :

42 Consider the following statements :
1. Kabir Granthawalji is related to Dadupanthies of Rajasthan. .
2. Meera's teacher Raidas was a weaver. 1 5t :
t‘3. Malik Mohammad Jayasi promoted the establishment of prayer halls like Namghar. -
How many of the statements given above are correct? ;
(A) Only one statement is correct. (B) Only twovst:ajtements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted
Trafafea wa=i 97 R HifeTa: ‘
L % e @1 ey e % gt & ¥
2. AR % % YarE et A il
3. WWM%W%WW#TWH%WW _
QT wudre et & & Rea wa @er & 7
(A) e us HaT G ¥ (B) et &Y o wd ¥
©) =i df wam wd ¥ (D) &Y% it ®oe v & ¥
(E)  srgafa wea
31 cny_A ‘ 21

1. The Puranas cal] the Satvahanag

‘Andhrabhritya’ and ‘Andhrajatya’.
2. The history of §

atvahanas is especially found in Vishnu and Bhagwat Purana.
/I

than a hundreq kings of Satvahanas are found in the Puranas.
How many of the statements given

3. Names of more

above are correct?
(A)  Only one statement is correct,

(B) Only two statements are correct.
(C) All three Statements are correct,
(E) Question not attempted
Fr=foRes waet v R Hife:

1. gmvﬁﬂﬁmamﬁﬁ'eﬁm’am‘aﬁm'm%l

2. mmﬁwmvﬁr@ﬂwwwﬁ&www%mm%l

3. Wﬁm%ﬁ%mw@f%wﬁﬁ%%l

R T SRt et ¥ & R er wd & 7

(A) FaW T HUTF T T (B) et &t e wet ¥
©) v & wurw A & (D) = st pert ey =¥ 1
(E) orgaRa ues

(D) None of the statements is correct.

P.T.O.



43  Match List I with List 11

List 1 ' List IT
a.  Bird Foot Delta i Mackenzie
b.  Estuarine Delta ii.  Mississippi
c.  Triple Delta . iii.  Mahanadi delta
d.  Arcuate Delta iv.  Nile Delta
Choose the correct answer {from the options given below :
(A) a-i. b-il, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv
(C) a-iil. b-iv, c-i, d-ii (D) a-iv, b-iii, c-ii, d-i
(E) Question not attempted
T [ =1 e @bt 11§ it
™ 1 T 11
a s i e
b.  TIgTIA =T ii.. Prafafy
c. Tuaswr iii. HETEr SET
d.  STuE 3w v, e ST
T g T et § ¥ e SR @1 gu B
(A) a-i, b-ii, c-iv, d-iii (B) a-ii, b-i, c-iii, d-iv
(C) a-iii, b-iv, c-i, d-ii (D) a-iv, b-iii, c-ii, d-i

(E) o1gaia ued

44  Consider the following statements:
Statement I : The ancient Buddha (Bauddh) Stupa is situated on the west side of Brahmasarovar.

Statement II : The mound is spread over an area of approx. three acres. The height of the mound
is about 4 m from the surrounding ground level.

In the light of the above statements, choose the correct answer from the options given below:

(A) Both Statement-I and Statement-II are correct and Statement-II is the correct explanation for

Statement-1.
(B) Both Statement-I and Statement-II are correct but Statement-II is not the correct explanation

for Statement-I .
(C) Statement-I is correct but Statement-II is incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

Frefeiad waml u famm i |

e | : yTdie drg w9 FerEdE] @i afi e § Red ¥

w11 : HIES T A Uahe A el GOt ¥ | AIGS SIEUTE i TN WX ¥ WHT 4 m #y arE T |

SUie el @Y e & TEd gy, W Ry g freedl § @ w8 e 1 e @i
(A) 2 Bo-1 oY wa-11 wér € aar wea-ll HYA-1 BT T TR )

(B) <t er-1 ofik aher-11 gt & @fees der-11 Her-] I FE WETT 7L ¥
(C) wu-1ael & wie Hy-11 T T

(D) wua-1 7T & wiee HU-11 el g

(E) orgafwd 9T
31 ¢y A

22 P.T.O.
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Consider the lollowing pairs:

Aram-i-Kaousar : Narnay|

d 0 ) T *Qhei : Kaithal
3. Bha |\'I.HI\0|I - Mclmm(Rnhlnl\-) 2. lomb of Sheikh Tayyab
How mn‘l‘y of the above pajry e correetly magehed?
ONe pair
(8 (/z:]l ih(rc: ||mirs (3)  Only two pairs.
zlf) Question not attempyeg () Nonc of the pairs

Prefirfad 3ol W R @\,
[, O T AR : i

3. W@ N Ny (Rww) 2. @ dug o amiy : Haw
A) &I TH Y By e
EC L UG gy (B) T g

(D) FHABENgw=d (B) ergana ue
about Bhumia or Khera:

d or the village.

at the time of marriage.

4 Consider the following statements
1. Itisthe god of the homesiey
.  Bhumia is worshipped

M. First milk of cow or bufTalo is always offered to Bhumia.
How many of the statements given above is/ are correct?

(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

gﬁmmzﬁv%aﬁﬁfﬁﬁﬁﬁamﬁwﬁaﬂﬁ’m:
L 9% TWRs a1 g &7 aar &
I v &1 gom foare & awa o o 3

ML = o Ag &1 weel gor shem i @ aufia fear s ¥
T T SuRTE wet & R wue adr T

3 3 B)  %ad 3 Had gy ¥
(A) I TH Huw T B B) . TTWI &1
(C) = & werw we ¥ D) FLABT WY ()  ormgaia v
47 MHIChLI;;itII and List I1: Ll
- i Milking animal
% Shethl ii.  Outer house
N p i, Neck
d. Naia;n iv.  Pitcher
: ohra o e
Select the correct option from the following given opt1o.¥1.s.b o A
(A) a-i, b-ii, c-ii, d-iv (B)  a-ii, b-i, eriv, d-ii
(©) a-iv, b-i, ciii, d-ii (D) a-ii, bHiif, c-iv, d-i
(E)  Question not attempted
T 1 1 gelt 11 vt 0o SRIL w
Thl i. CESECIGIACT
3 & (Ghethi) i b
o T (Laggan) it, e
¢ 9@ (Basan) Y
d. e (Nohra)

M Ry Ryt & @ @) ST A1 T DI
JOR 5-1, bii, c-idi, d-iv

©  aiv, bei, cuiit, d-ii

(E) ENSITGR L

! ey A 23

(B)  a-iii, b-i, -iv, d-ij
(D)  a-ii, b-iii, c-iv, doj

P.T.O.
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Consider the following pairs :

1.  CREST: Hosakote

2. Solar Obscrvatory: Kodaikanal

3. Radio Observatory: Gauribidanur

How many of the above paits are correctly matched? .
(A) Only one pair (B) Only two pairs
(©)  All three pairs ’ (D) None of the pairs

(E) Question not attempted

Pr=tfRas gt ut R it

1. ¥= (CREST): gumie (Hosakote)

2. QR Auemen : HegeI™ (Kodaikanal)

3. R Jusmen : MAREER (Gauribidanur)

e g Y A R g g € 7
(A) FI@ TH gH (B) %o & gH .
(©) w0 & g D) zRAFEHgAT  (E)

Consider the following pairs :

1. Intelligent Waterbody Management Project : Tamara

2. AMRUT 2.0 : Preserving surface and ground water bodies
3. PLASHBOT : Diffuser Aerators for bottom of water bodies
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs g (D) None of the pairs
(E) Question not attempted

Preieiaa gt wX feram i

1. Eamie arIEEl dHeHe geae © aaT (Tamara)
2. omEd 2.0 : GaE K T el bl HIE j
3

T gt & @ Rebat g @ gt § 7
(A) %HIdTH TH (B) Haw A gH

(C) =i dmt g™ (D) FRABLNgud (B
Consider the following pairs : ,
1.  Advika : Chickpea

2. Panchamrit : India’s Climate Action Plan

3. Mission Life : Life Style in harmony with ecological well-being

How many of the above pairs are correctly matched?

(A) Only one pair (B)  Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted

fermffaa gl ax framd BT

1. aifeer (Advika) : faedl
2. uamd (Panchamrit) : HITd &1 FATEHE T A
3. ﬁaﬁLiFE:WﬁﬁuﬁmW%ﬁNuWﬁwm

S gt # @ R g ag gafd €7
(A) agj@gfq (B) e &g :
24

31 ¢y A

ST U

S IRGRER]
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3 List I to C:?Stltution of India
o Atticle 263 : r.'“ 1
. in issi
b Article 226 ) " 1 £Imée Commission
. 1 l o
¢ Article 239 I e
. L. Inter-state Council
d. Article 280 - : )
. + Union Territory
WW%W%@IW@H%W SR
™ R
a.  OFBT 263 i g emi
b, SIgWT 226 ii. v e
c. IIB/T239 i, sfTToee g
d.  oTg®T 280 v. % i Ry
Choose the correct answer from the options given below
i g g fosedl § & w8 wwR @ wm A ,
(A) a1, b:ig, c: i‘V, d:i B) a:i, b:ii, c:iii, d: iv
(€©) a1, b:i, ciiii, d:iv (D) a:iv,b: ii, c: i, d: i.
(E) Question not attempted / ST 93
52 Match List I with List II :
List I ; List IT
a. Second Schedule of Indian Constitution 1. Administration of Scheduled Areas
b.  Fifth Schedule of Indian Constitution ii.  Comptroller & Auditor General
¢.  Nineth Schedule of Indian Constitution . iil.  Anti-defection laws
d.  Tenth Schedule of Indian Constitution iv.  Land Reform Laws
1 1 o1 g 11 9§ Tty aifTg g
@ 11
Tl , o
8 e g 1 gEd ogEd L ST &l s
b. s g @ arad oTgEH e et :ﬁWﬁ G
©. e wfae @ Ad g = %' T3 RN
d.  9rdig dfyer @ adl oTgEE iy RRAIRY
the options given below :
Choose the correct answer from |
M8 g g e ’a‘@‘@_ (B) a:i, b:ii, e i, d: iv
(A) a:iii, b: i, c: iv, d: 11 (D) a:iv, b: iii, c: ii, d: §
C d: 111
()aanCIV d/ﬂﬁﬁﬁagﬁ
() Question not attempte
25
31 (01) A P-T.‘O.



33 Match List T with List 11 : !
LiSt l List | -
Ukraine Evacuation Mission

a. Operation Ganga i. c
b.  Operation Cactus il.  Relief and rescue in Nepal : Idives
C. Operation Maitri iii.  Neutralizing attempt(‘fd 'Coup i i
d.  Operation Kaveri iv.  Sudan Evacuation Mission
T 17 TR 11 e e -
Tl T 10
a. TR T i e Tverely g
b Siwew ¥y i, v ¥ e i s e
c. sty 3 iii. W ¥ T % TA B eTET B
d. AW SR iv. g™ freem fyem
Choose the Correct Answer from the options given below
I R T Rl & & e w7 i | ,,
(A) - a: i bei o i, d: v (B) a: b ii, i, d: iv
(©) aii.b:ic: iv, d: iii (D) a:iv,b: iii, c:ii, d: i
(E)  Question not attempted / sala woq R T

S4  Consider the following statements -

1. Public Interest Litigation is a legal action initiated in a court of law for the enforcement of
public interest. = : :

PIL has reinforced the principle of locus standi.
Both citizens and organizations can file a PIL.

Supreme Court under Article 32 and High Courts under Article 226 of the Constitution of
India can entertain PIL s, ‘ ‘

How many of the statements given above are correct?

Bwo

(A) I and 2 only (B) 2and3on1y

(C) 3 and 4 only D) 1,3and40nly

(E) Question not attempted

Feretferfas @t 7 faam aafor

1 mﬁamﬁmmﬁa%wﬁ?%ﬁmwﬁﬁrﬁmm%l

2. ﬁrﬂ@ﬁm@%%ﬁ@?ﬁaﬁﬁﬁaﬁam%l

3. mﬁmﬁmﬁﬁaﬁqwmwm%l

4 m%éﬁrm%e@éﬂ32%@%mwmmahm226%mmwﬁm
g7 a%d &) .

feq Tu Tt wael F @ Reay wmaw wdr ¥ 7 e

(A) a1 @it 2 ‘ B) Few2aiw3

(©) #m 3 o 4 OANREL ROT

(E) ergaita ye \

1en A 26 | ~ PTO.
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27
31 (C1)\A

consider the following Statem
Privy purse referreq to g
princely states that sign
2 The payment of privy p
The abolition of Privy
egalitarianism enshrinp
How many of the Statement
(A) Only one statement is

ents

SPecific sy of v

er
. 0ney that was payable annually to rulers of form
ed the Instrument of Accession.

urse wag g Constitutiong] obligation before 4214 Amendment.
Purse wag justi

: inciple of
. stified on the ground that it stood against the princip
ed in the Constitutioy -

1.
S g1ven above gare correct?

correct. (B)  Only two statements are correct.
(C) All three statements are correct. (D)  None of the statements is correct.
(E) Question not attempteq
Frfiaa U TR RER it

1. ﬁﬁvﬁwﬁfmwaﬁmﬁ&gﬁwmmwwmmﬁmwammwﬁ,
ST WO WY TR e o

2. 42&@%W§sﬁwﬁqgﬁﬁ?ﬁ¢éwwﬁmﬁmweﬁl

3. &awéa%w%wwwwaﬁﬁaagmmﬁmmasm%mm
o T SRR HE F  Reay wom @ e

(A) FIT TH HYT T T
(C) =T I BuT T ¥)
E) saa g

(B) %aw < B H??r%l
(D) Bt & For wdl i ¥

Consider the following statements :

Parli t-can legislate on matters enumerated in the State List if two or more state legislatures
; arliament- : 7
: pass resolutions requesting the Parliament to enact such laws.

1 cted will be equally applicable to all the states, irrespective of whether they
2. A law so ena - » ‘
passed such a resolution or not.

3. Such a law can be amended or repealed only by the Parliament.
] . e correct?

How many of the statemi:ril:séi;\r/::t?bove: ar . Only i dii i are. S

bg!) Oxly one statement are correct. (D) None of the statements is correct.

(C) All three statements

(E) Question not attempted

ﬁww@amﬁwwmﬁwwwwﬁ%mﬁﬁmmwﬁwwwﬁ

1. WW@ﬁQ@aﬁm@quWW§l ‘
sttt & ¥ ol T A I Y A B, W SR T R B Wi R d

2. a?aﬁaﬁ;?ﬁﬁﬁ?mwmmﬁ%mﬁmﬁwmw%l

3. @ yeR & B 27 _ ~

R T wordierer et & et BT Tl (B) o &1 e ey ¥

(A) %ﬁaaqm?ﬁﬂ““a? (D) @I i HuT Wl ¥

(€) ot Jif et @& B

i ST v PT.O.



57  Consider the following pairs :

1. Rani Durgawati Gondwana
2. Chand Bibi : Ahmadnagar
Muhammad Shah

3. Zuhra 1 e
How many of the above pairs are correctly matched? .

(A) Only one pair (B) Only two }falrs'rs
(C) Al three pairs (D) None of the pai
(E)  Question not attempted

fFrtorRee gt w3 R @ -

1. T gl : HIECIEN

2. g9 : SEHTT

3. W ; TEHG 918

SRR A fhem g Wl gAfa ¥ 7

(A) & T gw (B) @ gH .
(©) =0 A=t g (D) 9 & B3 H T &
(E) orgaia wew 4

58  Consider the following pairs :
1.  Amir-i-Dad :
2. Turkan-i-Chahalgani : A group of forty
3.  Barid-i-mamalik
How many of the above pairs are correctly matched?

(A)  Only one pair ' (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted
TrtieiaT gt ox e @i
1. sTPR—t—am : Raier arfrr o ool 3 Proky & Rrarf gt |
2: g—q—aﬁﬁmﬁ 3 BIIE) @%;r_{ e
3. ~T—HHAH : O SR Ty fasmr
SUIeR T A & foha v we gafng ¥ 7 e
(A) % U g™ - (B) e & g
(C) =Ml g= ' (D) T @ &g o g
(E) organd uss
59  Consider the following pairs :
1. Sur Das : Sur Sagar
2. Shankardeva : Kirtan Ghosh
3. Sant Tukaram  : Abhangas

How many of the above pairs are correctly matched?
(A) Only one pair (B)  Only two pairs
(C) All three pairs (D) None of the pairs

(E) Question not attempted

frrferRad gt X fomm @R

1. 9g&™ ;. gy

2. gid i T

3. ddgenH : o

St gl o & e g el gAfea €7

(A) %ad Th JH (B) e & g

(C) it g™ D) T QB & gy 7

(E) eraid 9ed

31 ey A
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Law officer who carried out the decisions of the judges

Head of the information and intelligence department

P.T.O.



60 Consider the following Statements -

¢ S}lll:slhj)o bind Singh, the 10th guru of the Sikhs composed his verses mainly in Hindi (Bra

2. The play Niladarpan was Wwritten by Dinabandhu Mitra.
3.  Anand Math contained the famoysg nationalist song
How many of the statements given above are correct?
(A) Only one statement is correct,
(C) All three statements are correct.
(E) Question not attempted
frrfeied west oY R ity

1. ﬁma‘fasloags,gsfﬁ%iaﬁiz%méaa@uw%%ﬁ(wwﬁ‘%%'
Dt ﬁmm,aﬁﬁgﬁam%@wml

3. aﬁa%ﬁuﬁawwﬁa‘zﬁm’mﬁh%l

‘Vande Mataram.’

(B) Only two statements are correct.
(D) None of the statements is correct.

T T IuherT ot A F Rre wew gl &

(A) 99 TH BUT T T | (B) o ot e W &1
(C) o A B = ) - (D) ®E i wuT 9E TEY T
(E) srgaina e

61 Consider the following statements :

1. James Mill was highly critical of Indian religion and culture,

2. William Bentinck announced in 1835, that Persian was abolished as the court ]
was substituted by English.

3. Wood’s Despatch led to the establishment of university at Calcutta, Bombay and Delhi.
How many of the statements given above are correct?

anguage and

(A) Only one statement is correct. (B) Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted
Pt seml ae e BT
1. g fre arcdig o ofiT wwpha & wid STiy eTereTees &) y
2. 1835ﬁfﬁﬁ%mqéﬁz'ﬂ%thwrra%,ﬁﬁmﬁwaﬁw%mﬁmmwwtwm
& fa | |
3. W,wmﬁﬁ%ﬁﬂﬁmﬁaﬁtmwwﬁﬁa%mﬁ'
Poeg 1 ot amee & & Ry Fe W
(A) et oo o @ ¥ (B) et < et wd &
©  wehr dieff et @ B (D) *ir o wd i &
B)  srgafa wew | /
31 1. A 29 /‘ b
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62  Consider {hie following Salsmens . brigades in the name of Gandhi, Azad, and Subhag),
1. The Indian National Army had fighting brig Jai Hind’ and ‘Delhi Chalo.™

. . ’ re
2. The slogans of the Indian National Army We |- dian National Army.
3. Rash Behari Bose was not associated with the In

How many of the statements given above are correct?O s semidnts ard opréot
. nly tw

A) Only onc statement is correct. (B) :

(A) Y« (D) None of the statements 13 correct.

()  All three statements are correct.
(E)  Question not attempted

Fr=forRag st wx e #ifeg
e T & e, oreg o g 3 T & HrEh e &

1.
2. wRaw T ¥ F @ o e ok R T@’ o

3. W et 9w ard il & @ deifte TE 9

g Tg Soie wue ¥ § fpaw dpum @R € ? |

(A) a9 TH HYT T T (B) o &Y HUT Tel T
(C) = @ waw 78 ¥) (D) &1§ o B g T
(E) orgaia ues : :

63  Consider the following statements.
1. The election to the office of the President of India is held in accordance with the system of

proportional representation by means of single non-transferable vote.
2. The value of the vote of each Member of Parliament from Uttar Pradesh is greater than the
value of the vote of the MP from Goa. :

5l Electors cannot use the provision of NOTA in the election of President.

4. The provisions of Anti-defection law are not applicable in Presidential election.

How many of the statements given above are correct? -

(A) 1and?2 only (B) 2and3 only

(C) 3 and4 only (D) 1,2 and 4 only

(E) Question not attempted

FrfefEa HaAl 9T e Sk -

A1Td & LI 1 GATd Tebedl SEWTILOG 7l § FHIUTIR TR B urrell & SIar &t &)

1.
2. O 9EYT % Yk Gidg &% Ad 1 A el % iEs &b W b 7 Q i e B
3. Ul & gd & Hagmar Al (NOTA) & TaeT &1 SU-RT 78} H el §
4. TAgCH-Ta0Y B % Yrae TEafd & ghre ¥ qRL el e § |
few u TuTrerT Ul H A e wue wE € 7
(A) ae 1 8% 2 (B) e 2 8K 3
(C) e 3 3fit4 (D) &aw 1,2 @i 4
(E) orgafa 9ed
30 P.T.O.
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It

8ainst both Public Authorities and Private Individuals.

obligation.
St the Governor of g State.

A state to refund the tax collected unlawfully.

4. Mandamus can be

How many of the statemengg given

a X A} . s
(A) Only one statement bove are correc(
() Three statements (B)  Two statements
(E) Question not attempeq (D) Al four statements

ettt B I Foremt i -
1. T, FeHE wie mhemty

Consider the following statements :

/1. In order to form a new state in the Indian Union; the Parliament can amend the provisions of

the Constitution with a Simple Majority. :
2.  To amend the provisions of Directive Principles of State Policy, the Parliament requires a
Special Majority.
3. To amend Article 368 of the Constitution, the Parliament requires Special Majority along
¥ with the consent of half of the state legislatures.
How many of the statements given above are correct?

(A) Only one statement is correct. (B)  Only two statements are correct.
(C) All three statements are correct. (D) None of the statements is correct.
(E) Question not attempted

=g et ae feram BN -

1 5 mﬁwwmm%mw,wa@a%maﬁ%m%mﬁﬁmﬁmmm
2 . :
NP -%muﬁﬁﬁasﬁmmﬁ%WWﬁﬁﬂmwaﬁaﬂaswaﬁ%l
3’ xﬁzm.mﬁﬁi%ﬁﬁsﬁmmﬁ%mWﬁmwaﬁWﬁaﬁwﬁr%WQ%ﬁm
2 It g

mﬁmsﬂwﬁ%' qirE?
g 0 ey e % @ forae BT (B) el & e Ta ¥
(A)  Foe e waw @ T (D) & N BT T T ¥

©) s S et w1 ¥

31 | P.T.O.
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67

ci) A

Consider the following pairs: sures : Union List

1. Establishment of standards of weight and mea

2. Adoption and succession : State List

3. Betting and gambling : Concurrent List

How many of the following pairs are correct? o et
A) Only one pair .
((C)) All ;hrcc ;airs (D) None of the pairs
(E)  Question not attempted

foRad gt w Rer Akt

1. 9 3R 519 & |qep) 3w wegdr

!‘J

W

T g A Y e g wd ¥ 7
(A) Faw T T (B) e < g

(©) & &t g (D) 7 & HE Wt g &
(E) srgaia wew

Consider the following statements :

1. Residuary subjects are the subjects that are not included in the three lists of the 7th schedule
of the Constitution.

2. According to Article 248, both the union Parliament and state legislatures can make laws on

these subjects.

3. Space technology is an example of a residuary subject.

How many of the statements given above are correct? ‘
(A) Only one statement is correct. (B) Only two statements are correct.

(C) All three statements are correct. (D) None of the statements is correct.

(E)  Question not attempted

frretieifiaa wemt ut foram it - .

1. aaﬁmﬁwazﬁw%,vﬁ#&ramaﬂﬁfma@a%%?@ﬁﬁv&qmﬂﬁ%l

2. aﬂa}z%s%mn#dﬁuw@TWﬁrWﬂﬁsﬁ(mw) %‘W“WWW%'
3. cafve drenfe, srafie R w1 ue e ¥ 2

e 717 SuRier wemt & @ Reae wu wdr ¥ 7
(A) o % BT qEr (B) et <Y e wy ¥
(C)  wehr it et ad) &) (D) i et wrdy iy 3
(E) orgaia us=
= P.T.O.



Consider the following Statemenys .
1.  Theselection of the Vl]ayanag
2 Vl,ayanagala Was establisheq
3.  “Shri Pgmpay Namal’ inscrip

arasite was inspired by the existence of the Virupaksha ter

Near the Pampadevi temple.

tion has beep found on the Vijaynagara coins. .

How many ofthe statements given above are correct? on the Vijaynag N
ec

(A) Only éfﬁ*e statement ig correct, =

(B)  Only two statements are correct.

(©) Allt e statements g ]
{ Fi fe Correct, (D) None of the statements is carréct.

i
(E) Questlon not attempted

§
s e 7 R e of
By
1. WWWWW&W%WQMWI B
2 RS e o W
WWW\EWI}%WWWH@%? )
(&) WW—‘B‘W“@%' | (B) e 3 Hu e ¥ ol
) TRy (D) o o e T B
(E) aiﬁﬁ*‘rrf?rsﬁ oS
3 W
Consider thc;}followmg pairs : =~
L. Pratlhaggﬁng Bhoj :  Gwalior Inscription | i;
2.  Satavahana King Pulumavi : Nasik Inscription U
3.  Hun King Toraman : Eran Varaha Inscription
How many of the above pairs are correctly matched?
(A) Onlyzéne pair ‘ - (B) Only two pairs 5@3
© An th;ec pairs (D) None of the pairs E‘j
(E) Question not attempted J&
Frffas grat ot e HIRTT: N
1. wﬁrsréﬁltsn et T St U3
2. grqared T ggaE ;T SifeE
£ aér g7 L)
Tiﬁfﬁ;ﬁﬁ T e 3
©) wsy S g (D) T A B W gy 7 B
B)  orgafca et Ui
oy 33 P




70  Consider the following pairs : t
1. Mulfuzat Conversations of Suf Saints

ufi
2. Maktubat Recollection of biographies of S
3. Tazkiras Compilation of written letters

How many of the above pairs are correctly matched?
(B) Only two pairs

(D) None of the pairs

saints

(A) Only one pair
(C) All three pairs
(E) Question not attempted

Fr=faRaa gt w feam st
1. gagpea ! Tl B I
2. wageEd : Q! Tl &F el b e
3. awied i for@ g o=t &1 g
SUE g H 9 feas g wd gafea € 7
(A) ¥ TH W (B) e a gH
(©) =l drit g D) T & P f g
(E) Saia ued
71  Consider the following pairs :
1. Dar-ul-Adal : Place of Justice
2.  Balahar : Low class agricultural labourér
3.  Malikut-Tujjar : Chief of fraders

How many of the above pairs are correctly matched?
(B) Only two pairs
(D) None of the pairs

(A) Only one pair
(C) All three pairs
(E) Question not attempted

frmfofaa gt R SR

1. QI3 —3Iqel : T Dl &I

2. gaRrR : et Sroft T HIY FSIY

3. Afga-geeK I} &1 e

Iuda gt & @ e g wd gAtaa © 7

(A) %ad Ub A (B) et 3 g |
(C) a4 drr g™ (D) T & = f g @
(E) ergaied 9s7

31 ey A 34
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Lad 5

consider the following pairs :

"l
1. Leader ofithe revolution i 1857 in Ahirw : ’[wh
2+ Leader ofithe revolution iy 1857 in F . ASATAn : A0 bx{l‘?.ram
3. Leader ofithk revolution in Hapg; H ‘aridabad (Haryana) : Dhany $ingh
a ‘ . :
How many of the above pairs are correctly ::::l?e:; . :  Imam Ali Qalandar
N Only one pair o P
(©) Al three pairs (B) Only two pairs ()
- (D) None of the pairs
(E) Question not attempted e |
frafefad I o-Rar St - | i‘%
1. M(é\ﬁﬁw)ﬁ1857ﬁwﬁf%ﬁm . < garm
2. ORI @RI F 1857 F mify 35 3 . R
3. E (BRI ¥ 1857 ¥ wify % Iy : mg .
IRIE T H il g wd) gﬁﬁ},ﬁ %9 w ‘
@A) ¥ T g (B) %aw & g AY m]
© H‘ﬁ?ﬁ“’fa’t{ D) FHIFENTATE
E) aqgﬁﬁ—cr trs=r ‘ - 2:,3 '
5

73 Consider the followmg statements : :
1. In 1676, Shivaji crowned himself formally at Rajgarh. Lo
2.  The Karnataka expedition was the last major expedition of Shivaji. e
3. In1678, Shlvap campalgned against Karnakata and forced Qutb Shah to g)ay a sub51dy of one
lakh huns.. ] £

How many of ﬂ;e statements given above are correct? | N
(A) Only one statement is correct. (B) Only two statements afgtorrect.

(C) Al three statements are correct (D) None of the statements is correct.

(E) Question not attempted TR
et et g7 ferare IRTC - 0
1676ﬁmgﬁrwmﬁ@mmﬁmwﬁwaﬁn . o
2. mm&mmaﬁwwmﬁmw 0
3. 1678~3rf§1'—c'r"ruﬁ%aﬁfz€5%5ﬁ:r@aﬁmﬂmﬁﬂwﬁﬁﬁwmwﬁwwma;
ﬁ'TQWT{(ﬁBﬂTI R
t TSW;'I::‘;ZW:;%' (B) Wa‘rawwaé’r%‘t
©) iy dif e @81 & (D) @1+ HU TE T ¥
(B)  srpafa ge '
Lgl A % PTO.




74

75

Consider the following pairs :

1. Nuh Sipihr : Amir Khusrau
2. Riyazul Insha : Mahmud Gawan
3. Burhan-i-Ma’asir Rafiuddin Shirazi
How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C©) All three pairs (D) None of the pairs
(E) Question not attempted

1 7 iz : IHR ga

2. g gan S CRUIE ]

3. TEE-T-HIRR : THSEA St

S T A ¥ fren g e gt ¥ 2

(A) FId T g (B) %aw < g v
(©) ¥ &t g (D) ¥ & ¥ it g T
(E) @rgaia uea j
Consider the following pairs :

1. Basawan 3 Akbar

2. Mir Saiyid Ali  : Humayun

3. Daswant : Jahangir

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs

(C) All three pairs (D) None of the pairs
(E) Question not attempted '

Fepferfira g o3 Rreme iR -

1. a4+ : 3Thd{

2. | awEg ol : T

3. ©gdad : SEIUIES

sdiga g & & R g ae gAfma €7

(A) e T g (B) %ot 3 oy

(© whdei g (D) T & i o gyt
(E) argafea 9s7

36

31 ¢y A
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n the light of the above saqe

COnsider the following st
stateme“t I: The effecy
(atement IT: Calamine

alemepyg;

of ant p;
lte b4 2y . . 4
Can })L heutralised by rubbing calamine solution.

Solutiog

1Co : St

e l;ams zIne carbonate which is basic in nature.

tatemey t‘OOSc the correct answer from the options given b
"lare correctand Statement-11 is the correct expla

elow :

Both Statement-] ay
(A 48 nation for
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Both Statement-]
) for Statement—lll. St
() Statement-Tis correct by
D) Statement-1 is incorrect but
E) Question not attempted
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Consider the following pairs :

1. Plane mirror : Image of the same size as the object

2. Concave mirror : Rear view mirror in a vehicle

3. Convex mirror : Dentist

How many of the above pairs are correctly matched?

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted ' i ;
i gt aX feram it
1. magnﬁm:a@(ﬁa)a%mwmmqﬁm
). orade e : aren ¥ R o (T8-399) T

3. 3qd g9 : &a faes

ateme af . i
atement-1lare correct but Statement-I1 is not the correct explanation

alement-1] ig incorrect.
Statement-1] is correct.
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Consider the following pairs : 2.  Slaked lime : Preparation of Soap

s

,’E;c;w rga:fll}eérfzh;a?fo‘}e pairs are correctly matc?]]l%f;)d? IC\)IEL{, t(\;t,“c; ﬁ)eairs.
(C) All three pairs pairs
(E) Question not atte%?:
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{4 d clove oil in three différent test tubes ;
Take few drops of onion juicé, dilute vanilla essence an Y
consider the following statefhents: dition of NaOH, however it persists w
1. The characteristic sméli of onion vanishes upon additio {5i
HCL. ) it persists w
g ) . HCIl, however 1t p
2. The characteristic smell of vanilla is lost upon addition of

NaOH. NaOH in i
3. The characteristic smdl of clove oil is lost upon addition of Na i&i

How many of the statemenls glvcn above are correct? ;
(B) Only two statements are‘borrec

(A) Only one statement is, anect B .
R orrec
(C) All three statements atgcorrect. (D) None of the statementsgl\fjc

(E) Question not attempted

ﬁwmwumﬁﬁrﬁw%waﬁwq& Tadl %ﬁmq@maﬂ'{aﬁﬂ%aﬁﬁ%ﬁwﬁﬁﬁw

TR ER S :
1. NaOH M 1 @t ghfafde e w8 ol 2, aﬁi%ﬁagHCI%maa'—ﬁﬁ'cﬁ%l

2. HCI e wx afrar .80 i ao & s €, aaﬁsugNaOHéamuE@,ﬁ?ﬁ%l

3. Eﬁﬂ%%ﬁﬁNaOHﬁ?ﬂ%wswﬁﬁr&wwwz‘mﬁ%l o
%Qﬂqwﬁaﬁwaﬁﬁ@rﬁﬁ?“mﬁ%? : 1
(A) S0 Ts HUF & &) @?‘ (B) %aw 3 BT L ¥ ?“j?
©C) whdH T (D) » % wem @ y)
(E) oraka g |

7N | ’ 1N
Consider the following staferhents: - ?;«@

| When pH of rain water Hies in the range of 6 to 7, it is called acid ram.(w
2.  Tooth enamel starts t0~eorr0de when pH of mouth is greater than 7. i

3. Under acidic condltlon§ farmers would treat the soil with quick lime. 3%
How many of the statemen@ given above are correct? &
(A) Only one statement (B) Only two statements

(C) All three statements ,_ (D) None of the statements
(E) Question not attemptgd éi::»
Foreafefia e o e A Lad
L o 1 pH 6 40 e, 8 o ety )

2. e ®pH 7 ¥ siftes €AR aielt & e (qereress) T &or 9 e Ky
3. o aftRafll § Rk fefy ) ol oo A SR FE R (4

feq T SuTieR wuAt A @ Reaw wom A ¥ ?

(A) %ad TF Ho e ¥ (B) %aw I By W ¥
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conS‘d” the tollo\\ms, state

{l AnaCI‘Ob“' budl\do\m of gy -
(. Ethanol : Stesulls i lormation of which of the following compounds'’
Lactic Acid

‘mcm
K,Osc

3: Carbon dioxide

s ATP

How many of the statene
@) 1.2,3and4 are corree(?

©) 1,2and 3 only (B) 1 and 2 only

(B) Question not attempye (D)2 and 3 only

frteiad S 9T Ry i -

T ST et (e e )t SfemeTe P & e e a2
1.

2. WiwR® I

3. ®ET SEENeuES

4 TIAW

S B A § b wuw &7

@) 1.2.334 (B) 9w 1 ¢ 2

© ¥ 1,23 | (D) 9w 2 & 3

() sraRa weT \

nt givey above

U Consider the following statements:

Durmg Urine formation which of the followmg substances are selectively reabsorbed from the
mnitial filtrate?

l.  Glucose

2. Amino Acid
3. Salts
4 Water

bove are correct?
(Ii())W ;na;ny of t(?z statements given a (B) 3and 4 only
t 3 an

4 onl
[OF 1,2 and 3 only D {
()  Question not attempted
et ¥ e iy
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T AR A0HOwINg statements. "
Which of the following plant hormones helps 10 pro
1. Auxins

2. Gibberelling:f

3. Cytokinins “

4.  Abscisic Augd

How many of the emtcmcniq given above are correct? |
(A) 1.2.3and (3) 1,2and 3 only

(C) land2 onlg’?H D) 1 only
(E)  Question not attempted

Fr=foRan west uyfram Sift

Fr=folen ¥ @ S wew ewls uaw @ gfe & 7eg w@rd ?

1 CHESE SN

2. Restwm

3. wEdwmEhE iy

4. iR sna |
ﬁmmmﬁﬁé%ﬁﬁmmaﬁ%?

(A) 1,2.38R4 (B) ¥aw 1,2 80T 3
©) %“le?ﬁ"ﬁ (D) e 1
(E) sTEa Wﬁt

Consider the followmg statements:

Statements-1: The¢ length of the small intestine differs in various animals d

the\' eat.

moting growth 11 PrerE=s

SCVLEY GQCVLET

VLEY

%;;;nding on the food

Statement-2: Herbivores needs a longer small intestine to allow the cellulose to be digested.

How many of the statements given above are correct?
(A) Both Statements are correct.

(B) Statement lis correct but Statement 2 is incorrect.
(C) Statement 14$ incorrect but Statement 2 is correct.
(D) Both statements are incorrect.

(E) Question nBt#ﬁttempted

fr=fafea seae veiaar @i

m-l:@rﬁaﬁaﬁﬁaéﬁﬁaamﬁﬁﬁaﬁﬂﬁmﬁw%ww%ﬁ%l
FYH-2: JBHIETE! Dl Gegalst & UraH &g @dl, BIY aiid &) sTagaehar ey &)

ﬁqwmmﬁnamﬁzﬁmaﬁ%?
(A) zﬁrmawa‘e?r

(B) waaleér%ﬁﬁmastW%l
(C) Eﬂ?l’lﬁﬁ%«?ﬁﬁiﬁﬂ?{2ﬂﬁﬁ%l
(D) aﬁra;mnqgg%l

(E) ergafa 994
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¢ Match List ILX‘SM\ List 1 -

List 1.} e
a. 26‘h O.(STISlilll(ion- I l:Ist ll L’)
sond e M Amendmeny , “)
b, 52 ‘bl\smulionul Amendment ) Reservation for EWS. iba
o 86™ Collstituti ent i, Bducation as f i
d 103rd C Tmo.nm Amendment i, Abolition o: bu'nda[r’n cnﬁjlght
. % onstitutiong] Amendment v Anti d . R
@ 1 g 11 fram Bty - nti defection law
@5
o0 264 ) ' L] t
b. gzﬁw'\ SIS Hs:z: . 35&71@%&1'13111&1"1 "‘“
e g_s ii.  Ren & v aifer 11
c.  R6d gidenfys el i, Ry ot i
. - & GHTIA N
d. 103 i dsiem

iv. cEagw-fRrae (n

Choose the correct answer from the options given below :

(A) a 111.?[\;*1.\ ciii. d: i (B) a:i, b i, c: ii, d:1V

(C) a:ii. b Lo iv. d: iii (D) a: iv, b iii, c: ii, 44

(E) Questien not attempted / 3gaika 997 E
b

N LS

86 Consider theffollowing pairs: :
1. Consolidated Fund of India : Payment from the fund can be made without Parliamentary
appropriation.

= Conti{ggncy Fund of India : Held by Finance Secretary on behalf; &f the President of India.

B Public Account of India: Executive requires Parliamentary approséhto withdraw money from
this accpunt. J

How many of the above pairs are correct? N

(B) Only two pairs  j\y

(A) Onlypne pair
(D) None of the pairs{

(C) All thrge pairs
(E) Question not attempted

ferrferfias gt aT faETt AT :

1. ma‘gﬁaﬁm:ﬁﬁ:awmﬁﬁm%mmmmp

2, mﬁmﬁﬁ::m%mﬁlaﬁméﬁﬁmﬁaﬁm%ﬁmﬁm

3. mmmm:m@ﬁﬁrﬁlmﬁmqﬁﬂmﬁﬁwﬁq@@ﬁﬁmwﬁmﬁ%l
e T B) Fawdgm N

(D) AR g

"» ;
(A) Had ‘}T}?‘*
(C) @A g
(E) gﬁlﬁf’rﬂ gy

31 cy_ A
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87  Consider the following pairs: . St
1. Equal Justice and Iree Legal Aid @ Article 30 of COI?Sl‘ltull?n .
2. Promotion of Cooperative Socictics : Article 43B Q" ConsthU 1?13A of Constitution
3. Participation of Workers in Management of Industries : Article
How many of the above pairs arc correctly matched? '

(A)  Only one pair (B) Only two pairs
(©)  All three pairs (D) None of the pairs
(E)  Question not attempted

FrfeRed gt ux R i

I o9 = oiR frgres wipet e : d@fer @1 orgea 36
2. wEdn wiiaY @) e 3 ¢« wfrer @ argede 43B
3. SEI % weue F afre) @ arlier) : dfem @ ogeE 43A

SUe g A |/ fha g e gaf & 7

(A) F@THIH - (B) e & g

©) = g (D) ®Ehgm=d (E) organd 9o
88  Consider the following pairs :

1. Right to adequate means of livelihood : Article 39(a) of Constitution '

2. Equal pay for equal work for both men and women : Article 39(e) of Constitution

3. Right to work, education and public assistance : Article 41 of Constitution

How many of the above pairs are correctly matched?

(A) Only one pair - (B) Only two pairs

(C) All three pairs (D) None of the pairs

(E) Question not attempted

frieied gt Wy T it -

1. oTeife & qaie aremt & st : @iem &1 srgee 39(a)

2. el o Aitwrsd <l & e w5 % R e da - wfre @ ergeda 39(e)

3. @™, T ofiT |rdwiee e H it : SR w1 e 41

SUEd g H F fpas g |9 gt & 7

(A) %97 TH gH (B) %aw g™

(C) @ & g D) @NFHTE (E)  omaia ueT

89  Consider the following pairs :

1. Educational and economic interests of weaker sections : Article 45 of Constitution
2. Educational and economic interest of SCs &STs : Article 46 of the Constitution

3. Organization of agriculture and animal husbandry : Article 47 of the Constitution

.

How many of the above pairs are correctly matched? -

(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs

(E) Question not attempted

frrferiad gt T fermme @ifrg

1. ®ESl gt &1 Siftres ue enf¥fes foa : @faam &1 g 45

2. orggfod sk iR srggfua st & Afdes ofiT enfdien Rt « wfaem @1 ey 46
3. ol U ugues e : dferem w1 ogess 47

iR el A @ R g ad gk ¥ 7
(A) %!ngm B) dIWATH
(C) @4t Al g™ D) PRAFHTE (E)  orgefea wom

31 en A 42 k P.T.O.



Consider the follow

0 : ing pairs .
LA gle ylce-I;residelﬁ (l)lfsh‘\di 1A
2. ection of Vice Proc; AL Article 62 of Concfifu
5. Terms of office of ppeag. ATiEle 65 of Constiution
How many of the aboye pai{-q(. L.m *Article 59 of Constitution
(A) Only ofie pair > Are correetly matched?
(C) All thregypairs (B)  Only twg.pairs
(E) Qucsup‘n& not attempteq (D) None ofﬁyige pairs
W i : W
1. 9 & SURTRAfy - Tfye TFT- ]
2. TRTETRY BT g« iy R 02 tfon
3. Ui SVYER e - u&m?: qﬂﬁ o2 N
S T A B 7w e b tn
© B | (B) e &1 g
© g™ ' A
91 Consider the following pairs : ®), =g g;;g:ﬁ iz =
1. Enlargement of Jurisdiction of the Su el ituti i
, el preme Court : Artigle 138A of Constitution of India.
2.  Conferment on the Supreme Court of issue 1 i its : Article 139A of
Constitution of India powers to 1ssu%ceﬂa1n writs : icle o
3. (()Ifn{;ldiﬁgjudmal authority to act in aid of the Supreme C%%t : Article 144 A of the Constitution
How many of'the above pairs are correctly matched? U"ﬂ
(A) Only one pair (B) Only two pairs
(C) All three pairs (D) None of the pairs
(E) Question not attempted ;
L. wares SR % ST T R : ST i g 138A. |
D aﬁamﬁwﬁzﬁmﬁaﬁsﬁmﬁwm:ﬁgﬁw@h&mwa@al%A.
3. ﬁmﬁmﬁmﬁwﬁ%mmﬁ%uﬁwwmw@
SedeR g § § e g ad gaR € 7 W‘
(A) wae T g (B)  Faw I i
(C) = d=r g™ (D) ®EWMFETH (E)  omana v
92 Consider the following pairs:
1. Dengue : Caused by mosquito and spreads through blo%g
2! Typhdid - Caused by bacteria and spreads through water==
3. ngworm - Caused by fungus and spreads through woliis
How many of the above pairs are correctly matched? “J
(A) Only gne pair (g)) Y ppairs,
(C) Al three pairs ( one 0{&“ € pairs
(E) Questjgn not attempted {54
'E'E“\a"@ag"ﬁvf‘ il 3 i @ % A @ e ¥
1. %y geg o ey el & S ET
) ‘ e %Wm%amtﬁtasmm@fﬁmm%l
g CIEPIes a 3 gi el A Herar ¥
3. m:m%wé%gmﬁﬁ%? 1o
(€) we det g (D) ¥ 3 MRy g b
(E) osmafgg.ys ﬁ
"3 43
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betes:

Consider the following statements regarding din e
by pancret

of insulin

1. Itis caused by the oversecretion
2. The glucose level increases in the blood. comes |etharglC
3. The patient urinates frequently, loscs weight and beco
How many of the statements given above arc correct? statements are correct.
(A) Only onc statement is correct. B) Only tWOh statements is correct.
(©) Al ;111‘00 statements are correct. (D) None SLEC
(F)  Question not attempted
TydE ¥ ey d Prafies o o fE Sig
1. uzwsmmgg%aasmﬁmmasmém%'
2. TR @I S @ 9 A §)
8. ﬂﬂaﬁm——-mﬂsnam%,amwém%aﬁﬁ@hm?ﬁ%'
U HuE | | Reem dEA AN E 7 )
(B) et 3w G T

(A) Faw TH HYUF TEl B
(C) =it &t ou= Tl B

(E) orgaia ued

(D) i off et ad T T

Consider the following statements :

Statement I : The blood arteries have thick and rigid walls. _
Statement I1 : Arteries carry oxygen-rich blood from heart to various body organs under high

pressure.
In the light of the above statements, choose the correct answer from the options given below :
correct explanation for

Both Statement-I and Statement-II are correct and Statement-II is the

(A)
Statement-l.

(B) Both Statement-] and Statement-II are correct but Statement-II is not the correct explanation
for Statement-I.

(C) Statement-I is correct but Statement-II is incorrect.

(D) Statement-I is incorrect but Statement-II is correct.

(E) Question not attempted

frfaiEa el g7 faar #ifag :

H 1: Taa gat=di &1 rard J1e7 ST Hai &l & |

e 11: ermfral SiieioT e o i 9o T # &l ¥ 9 & Rt i e & w2
mmﬁaﬁmﬁwﬁ@,%ﬁqwﬁmﬁﬁHﬁwwmaﬁm; ,
(A) Faa-1 ot waa-11 &t ael & aar wem-11, Had-1 & gdt wlie &)

(B) o1 &t wya-11 9 |2l € wifte wum-1l, DU~ T T e W

(C) woa-1adl & s waa-11 7T &
(D) wya-1 e & dfes waa-11 @8 &)

E EEE
(E) smgara -
44
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consider the following Statementg -
atement I: Hydrogen ig consider‘ed
gtatement II: Hydrogep g the mogt azs
In the light of the above statements, ch(l>1

A) Both Statement-J and St
Statement-I.

48

a clean automobile fuel for future.
ndant element in the universe.

0se the correct answer from the options given below :
atement-[|

are correct and Statement-II is the correct explanation for
Both Statement-] and S

tat ) ; i
for Statement.1 ‘ement Il are correct byt Statement-II is not the correct explanation

(C) Statement-1is correct byt Stateme
(D) Statement-1is incorrect by Statement-11 is correct.
(E) Question not attempted

Frfeiad B O fram i -

nt-11 is incorrect,

wlzmﬁwémwmmgm%wﬁww%l
mnzmﬁqﬁaﬁﬁwwﬁwmww%l

TEIT HET D A F T 5, e Ry et 3 iy e o1 e AR -
(A) FoT-1 M Ho-11 A WY ¥ ot sherm1-11, o] o1 0 i cor 2

B) -1 3R Hor-11 S W ¥ AR eI, -1 ooty et 7 31
(C) -1 T Afe ®wu=-11 e 3

(D) =u=-17wa T Wies wea-11 g8 ¥
E) IFaRa usT

Consider the following pairs :
1.

2
]

Ginning : Separation of cotton fibres from seeds

Weaving : Making yarn from fibres : i
Polyester : Melts on catching fire and sticks to the body

How many of the above pairs are correctly matched? ) .
(A) Only one pair (B)  Only two pairs
(C) Al three pairs (D) None Of‘the‘pairs
(E) Question not attempted ‘
Frafefea gt wx ferame BT -

L. giterd (Rrfrr) © 4ol & ieT HIEEC B AT DT

2% " AT

3. %gwwjmﬁmwm%m arée & s T &

. 5 g gak@ 7
e @ v
o waﬁ:g (D) & & B o groy )y N

f‘ (B) A v | \4
1 31 ; 45 ! :
B A |
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97  Consider the following statements :

1.  Alkaliis a base that dissolve in watcr.

2. Ca(OH), is not an example of alkali. P

3.  Dissolution of a base in water is an exothermic process: L)

How many (55:\lu statements given above are correct? ents ar% s
(A) Only one statement is correct. (B) Only two statem ents . correct.
(©) Al thlgq statements are correct. (D) None of the stater :fz

(E) Questida not attempted ~
Prifrfa HdT X Rrar AR :

1. W@ N geaelie &R Bl &Y Hed © | N

2. Ca(OH), & HI ST T &1 ()

3. P e 1 o ¥ Yo O TSR HE ¥ wd

Reg St e 3 & et e 7 o

(B) aet 2 HoT eI ¥ D

(A) m@ww%n (5
(D) @ N Hm a1

(©) aﬁﬁwa@r%l

E) aqg?rﬁ—cr RS
| i
98 Consider thefollowing pairs: , L4
1. Acid Ieﬁ;f by bee stlng of honey bee : HCI i
2. Atmos_phere of Venus : H,SO, ;i%
3 Antaq;gl} Methanoic Acid :}
How many Q;ihe above pairs are correctly matched? Ul
(A) Only one pair is correct. (B) Only two pairs are correct.
(C) Al thr:e pairs are correct. (D) None of the pairs is gorrect.
(E) Questton not attempted 7y
ﬁwﬁf@agrq’fwﬁmzﬁm | “~J
L. Wgw@r@aww:HCl o
2. g& aa';"argr-rgﬁ : H,80, : z;;
3. R Al o ;
i g ¥ & e g ¥ 7
(A) aaaaqao'gwa’e»"r%l (B) Ha@ A gHEE ¥ o
© waﬁrgwa%. (D) aﬁésﬁ@qa@aﬁiﬁ

(E) ma?lﬁa,gﬁ |

; ' e

phs, M
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consider the following statemens:
Touching a flame is an urgent '

S oo ¥ : an g ; ' : : ;
fast reaction is attributable to d dangerous situation and we drag our hands involuntarily. This

. whi :

1 Spinal Cord ch of the following structures of the nervous system?
7. Motor Neuron

3. Brain

4. Sensory neuron

How many of the statement gi
given above are correct?
(A) 1.2.3and 4 5
(C) 1.2and 4 only = A

() Question not attempted (D) 2,3 and4only
Prefied HE WX frEr S

R STTEed® SN AT Rafy & o & | . .
e a2 PR ¥ A P @ %ﬁgg,wmmaa@aa%%lwaﬁam

1. wWTg
2. U TTHT DI
3. A

4. T8 GNET BIRTHI
faqwqmmaﬁﬁéﬁw%mma@r%?

&) 123@14 (B) ®aw 18X 2
(C) %aw 1l.234 (D) e 2,3 3R 4
(E) SHaRd 9e7

100 Consider the following statements :

Which of the following functions is/are influenced by adrenalin?
Increase the heart beat
More Oxygen supply t0 muscles.
Increased supply of blood to the digestive system.
Breathing rate declines.
How many of the statement given above are correct?

1.
2
3.
4

(A) 1,2,3and4 (B) 1and?2 only
(C) 1,2 and 3 only (D) 1 only

(E) Question not attempted

Rrffiaa et U faaTt BT

ﬁqﬁf@aﬁ@ﬁa-m/@mq%qﬁ?mwﬁﬂs\wﬁ%%?
1. ﬁaa?ragﬁﬁ%am%l

2. mﬁﬁﬁaﬁmmﬁaﬁmﬂaﬁmﬁf

3 e o A R o o A 9

4,  sree e H EH
hmmmﬁﬁﬁmﬁmmﬂﬁ%?

(A) 1,2,304 (B) % 1 efiv 2
(C) Faw 1,283 (D) e 1
(B) orgaf 9e7
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